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1. Please solve the following initial value problem.
e (2cos ydx—sin ydy) =0 (0)=0 (10%)

2. Please find a general solution of the following system of ordinary differential

equations.
'=2y +5y,
L (15%)
Y, =5y +12.5y,

3. Please solve the following linear system.

4y+ z=0
12x-5y—3z=34 (15%)
—6x +4z=38

4. ## A divergence & 32 J 3t & T 7| & % - (surface integral) _UF ndA » HF
S

F:[siny, cos x, cosz]ﬁ‘hS%éaszryzSLl%u‘z\SZﬁﬁ?ﬂﬁié@@° (15%)

5. Please find the Laplace transform of the following functions) °

al

a. te”
b. bsinwf*coswt (10%)
6. Please find the corresponding Taylor series and associated radius of convergence

of the following functions) °

1
a z,=0
1-z 0
b. sinh(2z-1), zozé (20%)

7. Please find the corresponding Fourier series of the following function.

fx)=x*, -l<x<l, period=2 (15%)




